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FACULTY OF COMMERCE
B.Com. (Second Year) (Fourth Semester) EXAMINATION
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(CBCS Pattern)

INCOME TAX—II

(MCQ & Theory)

(Monday, 1-4-2019) Time : 2.00 p.m. to 4.00 p.m.
Time—2 Hours Maximum Marks—40
N.B. :— () Question Number 1 is compulsory and solve on OMR sheet.

(i1) All questions carry equal marks.
(@ii) Use of simple calculator is allowed.
() TR HAG 1 FEE A @ OMR sheetdX Hred
(i) @& YA FEE O SR
(iii) | TUERTS STRUAE TE SR,

MCQ
1. Multiple Choice Questions : 10
g T
() State which of the following incomes is exempted from tax ?

(@) Agricultural income in Lonavala
(b)  Interest on Government Securities
(c) Income from Salary

(d)  Capital Gains

TTeATeush! HIA A= HH R 2

(@)  SMEee St a1

(b)  HEHN Hfdycieria oAl

(c) S 3cq—

(d) ~ wTsael oy

P.T.O.
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(tii)

(v)

()

( 2 ) CZ—224—2019
Exempted income is :
(@) Interest from domestic company
(b)  Dividend from domestic company
(c) Dividend from foreign company
(d) Dividend from a co-operative company
FHHEH A= 3R

(@ /@S Rudehed oS

(b) ORI/ SRR g T AT
(¢  focsft shoiere e

(d) TEHRR HUARST AR

U/s 44AB the audit of accounts is compulsory if total sales exceed :

(@  Rs. 30 lakhs (b)  Rs. 40 lakhs

(c) Rs. 50 lakhs (d) Rs. 1 crore

SR -QE"’_,_\UT ﬁaﬁ .................................... -a&_-n- SIES! \'Hgﬂ W FHog 44AB W
e R EvIsh 3TEd

(@ 30 <@ T4 b) 40 <@ T

(€) 50 @M@ T9d d 1 R T

Out of the following which expenses are admissible expenses ?
(@)  Bad debts (b)  Sales tax

(c) Excise duty (d)  All of these

WeATeTUsh! HIVA ©E HEEEEE A 3R 2

(@  JSId & ®) fasmt

(c)  3IURA ook d) AUst gd

Under which is the work of a doctor covered ?

(@)  Trade (b)  Business

(c) Profession (d) None of these

ETW m ...................................... =] Wﬁ 3:“%-

(@) ~ SAMUR (b) FIEH

() Tsm (d) aHT AR
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(vi)  Gift from client to a practitioner lawyer is his income from :

(@)  Profession (b)  Salary

(c) Other sources (d) ~ Capital gain

I HOMAT Tehlcalid el SARTeehed fHadlered] | oo
T 3TE.

(@ 9w ) &

(€ IR (d) — wresdet Y

(vii) Income from sub-letting of House Property is ...........cccoceiviriniiannais .
(@) Income from Other Sources
(b)  Income from House Property

(c) Income from Business

(d) Exempted

Jia{.iq‘-ﬁm{id r"|06|t"\|Q"\'| thzq'“S?»“';{ cres o ST RN 3:”%
(@) 3O HAEARE 3 ()  TREIIURA 3
(©) AT 3cq— (d) SR

(viii) In the case the resident of India, net income received from winning
lotteries is grossed up by using ...............cccooel. .

(@)  Amount received x 100 + 90
(b)  Amount received x 100 + 70
() Amount received x 70 + 100
(d) ~ Amount received x 79.4 + 100

aRcrg et srdten dfediagT fHere e Sc0= Hehel  shoam&rd]

..................................... TR ST
(@ 9 pH x 100 + 90
(b) 9« RH x 100 + 70
(c) @ TFRH x 70 + 100
(d) T« TFRHE x 79.4 + 100

P.T.O.
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(ix)

(x)

( 4 ) CZ—224—2019
Deduction available under section 80C is in respect of .................... .

(@)  Interest from Bank Deposit (b)  New Pension Scheme

(c) Life Insurance Premium (d)  All of these
FEH 80C ST YA SASA GE oo ¥ frea o
(@  Shdid SHeRia A (b) T YIE A
(¢)  omgfa™m =1 == (d) A=t wd
Sum of various heads of income is called :
(@) Taxable Income (b)  Gross Total Income
(c) Total Income (d)  None of these
ST AR RTTRIAT STEq s Gkt
(@) WA 3IAA (b)  Hhd THI 3T
(€) THI I]aA (d) AT AR

Theory

The following is the Profit & Loss Account of Mr. X for the year ended on
31st March, 2018 :

Compute his taxable income from business for that year : 10
4 T

Opening Stock 15,000 | Sales 2,80,000
Purchases 1,40,000 | Closing Stock 20,000
Wages 20,000 | Gift from father 10,000
Rent 46,000 | Sale of Car 17,000
Repairs of Car 3,000 | Income tax Refund 3,000
Medical expenses 3,000
General expenses 10,000
Depreciation of Car 4,000
Profit for the year 89,000

3,30,000 [ 3,30,000
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The following further information is given :

(1) Mr. X carries on his business from a rented premises half of which is
used as his residence.

(2) Mr. X bought a car during the year for ¥ 20,000. He charged 20%
depreciation on the value of the car. The car was sold during the year
for ¥ 17,000. The use of the car was 3/4th for the business and 1/4th

for personal use.

3) Medical expenses were incurred during the sickness of Mr. X for his

treatment.

4) Wages include ¥ 250 per month on account of Mr. X’s driver for
10 months.

31 9, 2018 TS FUom=r auf=n 4. X = ey el Wiy e 2.

I IEESl SRS H{gE 3ca=d N0 ki

4 4
URYU &Y 15,000 | fosnt 2,80,000
TR 1,40,000 | TeRUl whY 20,000
T 20,000 | afeaered W 10,000
e 46,000 | =t fosht 17,000
HRET GO 3,000 | SAFHI=T YT 3,000
ERCIRIRCE] 3,000
T T 10,000
HRAT FEN 4,000
ELicIEE| 89,000
3,30,000 3,30,000

el Sfafea wifedt feore o .

(1) 8. X T =1 o9 Yredr=A1 SHeR Ireieadid e 378 = Tguarda!
JraIdrd.

P.T.O.
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2) T X 9 % 20,000 & &R fashd Bac. @A wREAT AR 20% a0
SRS =g auHed ¥ 17,000 o &R faehell. ®RAT 3/4 AN HTHEH™E
3T 1/4 SFAS ITANTEE! 3.

(8) 8. X =1 dUsd STUREE ANNEN Jdgahid < hivde AT

4) T X =0 gHe= EEna 250 gfaae gEm, 10 Jfgua aeibed
g TR

Or
(feram)
Smt. Neeta is a registered medical practitioner. She keeps her books on cash

basis and for the year ended 31st March, 2018 her summarised cash account
is as under :

Receipts 3 Payments 4
Opening balance 5,400 | Cost of medicines 40,000
Bank loan 12,000 | Surgical equipment 12,000
Sale of medicines 61,000 | Motor Car 24,000
Consultation fees 20,000 | Car expenses 3,600
Visiting fees 16,000 | Salary 2,400
Interest on investment 18,000 | Rent of Dispensory 2,400
Rent from property 14,400 | General expenses 1,200
Sale of building 30,000 | Personal expenses 7,200
Sale of furniture 10,000 | Life Insurance Premium 4,000
Interest on Bank loan 720
Property Insurance 800
Fixed Deposit in Bank 60,000
Closing balance 28,480
1,86,800 [ 1,86,800

Additional Information :

(1) 1/3rd car expenses are for personal use.
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(7

2) Bank loan has taken professional purposes.

3) Rate of depreciation on car and surgical equipment is 15%.

Compute her income from profession for A.Y. 2018-19.

CZ—224—2019

Tl. a1 T AUl dEeE FEdae 3ed. 31 HIE, 2018 TEISTER W= J&

T SRS 3R, TATTyqol & e deollel. el Saolell 378

et 3 | wite 4
R foreeren 5,400 | oy BR 40,000
ok el 12,000 | TEIfwEA AR 12,000
siwy fasht 61,000 | "R *R 24,000
HHUSIH  Y[eeh 20,000 | AR ®R T 3,600
qT Ik 16,000 | cH 2,400
UGENCIENGECIS 18,000 e 2,400
LRI 14,400 | 99— @ 1,200
ECIGIEED] 30,000 | =K @ 7,200
IUEHT Taeht 10,000 | Sftew fomr gt 4,000
S el AT 720
ot fom 800
d gadi oo 60,000
HCEINIGIED 28,480
1,86,800 [ 1,86,800
3rferen TIT[%T'ﬁ s
(1)  TeRTq STRERN SR @9 1/3.
(2)  dF Hel 7 AR IR
(3) R 9 YHRA WRIAER 15% U7 SGN H= 38,
2018-19 a1 f¥RUr IHiwRal @M= FEANTE AAE  STUE FH.
P.T.O.
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Mr. Balaji earned the following income in the previous year 2017-18 : 10
() Dividend on Equity shares ¥ 15,000.
(1) Dividend on preference shares I 7,500.

(zii) Income from letting on hire of building and machinery under one
composite lease T 40,000.

(v)  Interest on Bank Deposits ¥ 6,000.

(v) Directors sitting fees received I 20,000.

(vi)  Ground Rent received % 10,000.

(vii)  Amount received on account of winnings from lotteries (Net) I 56,000.
The following deductions are claimed by him :

(@) Collection charges of dividend ¥ 400.

b) Allowable depreciation on building and machinery ¥ 10,000.

(c) Fire insurance on building and machinery ¥ 2,000.

Compute his income under the head “Income from other sources”.
2017-18 =1 3{MeT=A auid &l areArst A @refld S i

() ~ GHYFER &9™ 2 15,000.

(i)  STUGFRTSAT {FMER eniel ¥ 7,500.

(i) ~ THAT WIS YeIH TARG 9 I WiedH ol R el 3ea= € 40,000.

(v)  ehdid S I A =N 2 6,000.

(v)  FETER SSH Yk e € 20,000,

i) TeEN 9 fRer T 10,000.

(vii) e Seartr @he fHerel (Net) T 56,000.
T el aSeeEel q@El hall

(@) ~ TURT ST HoIEl @ 2 400.

(b) ARG 9 IAER H AT T 10,000.
(c) ARG & I5eR 3FifaAr € 2,000.
E TR AU Sq=™ ST 6.
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Or
(fenam)
Compute the ‘income from other sources’ for the assessment year 2018-19 of
Mr. Lalit :

(1) Directors fees % 20,000
2) Agricultural income in England T 50,000
3) Ground rent for land in Latur T 1,00,000
4) Interest on postal saving bank account T 1,000
5) Interest on deposits with Industrial Finance
Corporation of India % 5,000
(6) Dividend from Foreign Company T 7,000
(7) Rent from sub-letting house T 26,250
Rent payable by Mr. Lalit sub-let house % 12,000
Other expenses of sub-let house % 1,000
(8) Winning from horse race T 12,300
9) Interest on securities 3 4,000
o Teid I HIEERO 6 2018-19 HAM SR HAURAA Iq-T= SAFUH HI
1) o Yok % 20,000
(2) e I IdE A % 50,000
(3) R Aol fewmen S e % 1,00,000
(4) U HE d9d s WaEld S Z 1,000
(5) YA SN fom Aemeade Sdiaid TS Z 5,000
(6)  forasft shuet=n A9 % 7,000
(7) = dR-9reuN fode e Wre % 26,250
St Tefta A de-wrea e We fad % 12,000
Te-qrear=al e SR T Z 1,000
(8) e kI fSiehat % 12,300
9)  wfqydiedia == T 4,000
P.T.O.
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4, Mr. Vipin submits his income information for the assessment year
2018-19 : 10
1) Income from House property % 40,000
(2) Income from Business T 4,82,000
3) Long-term capital gain 3 12,000
(4) Interest on Govt. Securities % 20,000
5) Winning from horse race % 7,000
He has paid life insurance premium amounting to I 5,000.
Compute his total income.
ot fodim o swaRe au 2018-19 HE @efid 3cd=1 Hifsd! ¥R el TR
(1) TEEIE S % 40,000
(2) FEEEE 3O ¥ 4,82,000
(3) el wigad fHeswd T 12,000
(4)  HE gfdydieiia =arst T 20,000
(5) el TR S Z 7,000
M 3Ye Sia fadr gt 5,000 e
e A TRy a1 FHfF=a .
Or
(fenam)
Write exempted incomes under Section 10 of Income Tax Act (any ten).
AR HIIATAT FeAH 10 T HTHH AGATT Scq—r=] A1d {oTe1 (HIUKEl E@T).
CZ—224—2019 10
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